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پـاسـخ 	 	 	 	 شماره  سؤال	

1

ریاضی
‌1              اصلاحیه: ارتفاع متوازی الاضلاع = 6	

مثلثّ      6 = 2 ÷ 4 × 3 			                  مساحت متوازی‌الاضلاع       48 = 6 × 8 

  1             2
‌

		  ارتفاع 6 = 24 ÷ 144  72 = 2 ÷ )24 × 6( 72 × 2 = 144            3‌‌‌‌

300 ÷  20 = 15    400 ÷ 20 = 20 	‌	              20 × 15 = 300            4‌‌‌‌

8 × 4 = 32            5‌‌‌‌
‌‌‌

‌فارسی
‌ ‌1              بازپاسخ	

موفّقیت  موفّق         ‌‌2          ‌   حضور  ‌‌حاضر 	 تحصیل  محصّل	
‌‌3          ‌  بازپاسخ    

‌‌4          ‌   تهران ـ حاضر ـ خانواده ـ دانشگاه ـ رویا ـ فرزند 
‌‌5          ‌   بازپاسخ

علوم
              1

144

انتشارات سرمشق
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2

2              بازپاسخ
3            الف( مادگی            ب( مرطوب 	          ج( گل‌دار

انتشارات سرمشق


 




